AMRBR A|2|=

|:||.—||_-||EI El:gﬂ)\ MEl[_-l/ |='|| "i| El‘ I

® 27 4(AMRBR 06, 010, G16) 2 21, ofof
FMH(AMRBRG20, @25, @32, @40, @50) S
NCEEEC RN ELEE

FELE
@6, @10, @16, @20, ©25, @32, G40, B50

6] ™
RELE BE AER3
(mm)

6 50, 100, 150, 200, 250, 300

10 50, 100, 150, 200, 250, 300, 350, 400, 450, 500

16 50, 100, 150, 200, 250, 300, 350, 400, 450, 500,
600, 700, 750

20 100, 150, 200, 250, 300, 350, 400, 450, 500,
600, 700, 800, 900, 950

05 100, 150, 200, 250, 300, 350, 400, 450, 500,
600, 700, 800, 900, 950

32 100, 150, 200, 250, 300, 350, 400, 450, 500,
600, 700, 800, 900

40 100, 150, 200, 250, 300, 350, 400, 450, 500,
600, 700, 800, 900

50 100, 150, 200, 250, 300, 350, 400, 450, 500,
600, 700, 800, 900, 1000, 1200, 1400, 1500

XEEAEZRI Q| AER3E HE 29| HIgfLICt,

X ol ©
2QAREY R, 7
271% : A9TRIY 2
N alixieY glgsue

ot x|

(Y

)
8|74

9715 ; 2 RM
A oo{RM
X 0fl01RM 42 @20014 HZol2t SHEHE (06, @10, 0162 SHEEIS)

[9] AUTO SWITCH
2715 A9% gle
WBH(V)* : REF 244, 2852
WOH(V)" : ST 2M4)/3444),
WA0V* 1 RET2HA/3HY, 21

AUTO SWITCH?®| 7t 7|&
B7|& ;27 2=
S 1 &
N noff 22

TCP1
APM
TCM
TCM2
ARD
AM2

TCA2

TCS1
TCS2

TCQ2

ADQ2CP

AQ2
ADQ2

AQ3

TCK1
TCK2

ACK1

ABK
ABK2

NSK

TGQ

NGQ
NGQHRH
TGM2
T6

APR

TCRL

AMRBR

e
ADR
ASL
NDC

NDM

501

www. TPCpage.co.kr



AMRBR Al|2|=
AMRBR AlZI = 218 2 7ol of3} =

o
> 4
r
o
=
inl

HE w0l ks AERA 2z 7
® HEZI =4 M BELAA 1.05MPa(10.5kgf/cn)
H2}310| 10| XIF Hatsty| M0 A DAIE 0.7MPa(7kgf/eT)
THa 25 PITCHYt MotX|2 2 2212 Z| R AL ot 0.2MPa(2kgf/em)
slgt Z210| CfZHOZ Fa ~oocanaois -
Foler A AIRRFHRE 5~60°C
g % 23%
A8 TAE & 150~400mm/s
2 M 06, 010, 016 \ B
= @20, @25, @32, @40, @50 \ 2{H/0[0{ 2 M
Sxlgy =g 41
AX|KEA| =H / Gr/ 2E
TR BRSPS / AEEE
AR 26 | @10 | @16 | @20 | @25 | @32 | @40 | @50
2 55 | 12 24 | 37 60 | 94 | 150
satE
B4 FE UZ(mm)
6 10 16 20 25 32 40 50
Aolzal2l | AMRBR(G) : OstAl 0.073 0.155 0.31 0.538 0.765 1.359 2.166 4.11
2EY | s0AERIaTtEEZFE| 0015 0.023 0.038 0.049 0.059 0.081 0.103 0.159
AQIR[Y AMRBR : OstA| 0.059 0.13 0.267 0.476 0.686 1.247 2.01 3.8
S RE
o | 50AEZ3E 55| 0.003 0.006 0.015 0.02 0.025 0.037 0.05 0.08
F) AR NESE=7 |2+ ESEXHE AEZ3+50
ofl : AMRBR20-500
71252 :0.538, 552 : 0.049, HIEAER3 : 500
(0.538+0.049x500+50=1.028kg)
A2IC| 0|2 F2iE
@6, 10 @16, @20, @25, @32, B340, @50
90 2000 e
80 @10 1800 -
/
70 / 1600 /
6 ,/ 1400
240
// 1200 / g
~ 50 7 -
< / Z 1000
mr 40 fir A
K+ / i 800 = 232
W 30 g6 ] L~ 1
°© d _— S 600 - =
20 Sz — @25
- — 400 ] B
10 '//' — //l/ L] 220
é - 200 > — a16
0 - 0
0 02 04 0.6 0.8 1 0 01 02 03 04 05 06 07 08 09 1
22U (MPa) S URMPa)

502




opaue] 2ceA M2 /7 5 8% erd AMRBR Al2[=

o |
s Z||33|2/2|S|8g|8/|2/s88|S5|5|am 5| 288|830 5||5 S & 5|a| 8| 3
Fl<||FI|F|<||<|| F|FF|F| <||sg|| < ||FF|| < ||l<<|| Z || F ||ZZ||FF]|| < || F < ||zZz||<||<||Z||=Z
w]
5 O O ro | ro o T2
2 Hl W W (W
Q = Al | JU w 30| =y
i‘ gl ey I o | &
=
o) mw -
S
Zu| o |0 RO | o '
N g 3 %_WA:%ﬂ&mmw%
|| 3|7
&L, 277D
, : e .
[©)
SR =
g S
ANO] RS i
mizl (81212132
i ey 7|35 z|E|D
%) o |28
S o EEETEHHPG
o W Rxn|O
S L Kol = el g =y =
/Qwu ®—_ Z|R|Z|0|O|O|w|C
E) i =
SHI| ® O—. —® IR BRI
[N\ | 77|
s —©
S | -
4(IN | wi | w | ]
Sefa &) = ola| |2
“m N —® 2|2 gl =) fo | o no|ro ©|g ro
] (8 Q/ e Siao| |8 || |m| (S|4 |44 Q% |4
2 : @ “iZal Clez 2 TR B | &8 |F
g =3 ™ —® Tz K 2 ©le
e S 2 E = B
[~
(& —®
© (4 o L By ) el 5
= - = N A A A A E A DA S R LA A P P e e
2 @& @uﬂ@/@ ) R T e i A L e A I R R e e T A s
S Koo\ |®| oo 5 oo g 830|300 Z(Z 04| 2
- Mk | - _M_ Mk | - _N__ M- E_.QoHu _,ouﬂoua%_,ou =
— o - o | 5l o | ol ol | 5 w
I )
|
= -
d O ol 0
w_u © § 8 ol P4 @
= = 0 Bl 1Sl 212 |% z
Q < 5 <|m|3 Z = S g
_AE - : Te) D _ = TIZ|lwlz|z X
S q BO| o o | = SIMEIEIEIRIE &}
1 S & ©— I P EIREMEE
~ t s & 5 81818| z |5|-1ec|EIZ1Z13 2 2|7 e |E|e|E|E|Z
H ) N O|0|z| © |O|k|W|a|6E| &G & wwww X T|Llald
= S © o123 & |5|2|9/8|2|2|2|5/5/5|9/2|3|5|2 |2
Ki o« T G|&G|o| & |@|5|»|£|2|2|2|0|0|o|n|6|o|d|6|a
Iy & g ©®
g = = Blr|a]o| v [o|e|~|e|o|2|=|N 2|2|e] @ |&|e|e
- << < I

503

www. TPCpage.co.kr




AMRBR A|2|=

AMRBRG @10, @16

@ BOEE ®O O

Wi

O OB

AMRBRG @20, @25, @32, @40, @50

@50

Il
]
/
/
—_
¥

-

S
1 | kzA

2
Y

4
{9

<
=
A

N

IWARNANY

=K

T,

oy u i
o |[FU|RU il 30| &
J|T I o | S
3
Ei
Rl [l | |w|l
ma7o_xTnnA|_Donn_.T._E
Kl |fo|a|m |||
) E | w | E g
| <l ! 5y
[©]
=
S
<
8o I_NP L
R EIREHEEE
Hulz|g|285|E|2
LAY e vl e i
TR W RDA|lexn|O
WoSl<|E|28|E|Z
RIA|Oln|lO|O|n|c
Ol- ||| |w|o|~]|o
.ur%._22222222
wl | wp o|ul wl °
22 2| |2 rio | o ro | rio ©ls ro
TR | T (] | 8|9 |u
L T I I TS T T R A I A A
T\l |olwm| (e |FE|ENE 9l |
2|3 Sk 2 J|o J|5 QY 3
Bl e|F| |2 Q
o | il H__|
L oy o OO - N
| | e e | e e | B = | | R R ol
RU|Jo|Jo | 2| Jo|Jdo| 2 | Jio | o RO [<F [ R0 <F|<F| 55| &L L5
o e i el el i el e e 3 [ QAU ] gl AU QY a N aa vl N RO aa e}
R|oO|o|q|o|o|m| oo w8 20|30 0z Z|0 42|z
W UE |5 U UE | U U | o ST ol | | ST | ol | oD o
aufsu| ! \ou|au| ! su|su| ™ “ .
ol |2
O Z (0]
<|o|d o |21&| |Z2|2] |8 Z
— | T > = |z | X
B o | |F =2 NERGE&& = OO
Mo || W | o = MWMAO e Oz
2| 2|0 c|SQIZIZ|>Z22 |- |Z|xc|Z2|2|E
Q0lalz|E o | W Tl |oc|le|D|Slw|E |z
OlO|ZIO|IC|L|W|a|E &% ww ool I a0
ala|dElIEIZ|a| 222 EIEIEIQIB|O|Z2Z|5|a
ZIZ|I=Z 22T H|0(Z2 /12|22 20202(Z(2(2(2|2|=
D|d|ola|n|vn|n|Z|Z£|/£|Z2|0|0|0|n|d|0|n|6|a |2
Bl r|a|o||o]o|~|o|o|2|F|®|2|2|e] © |&e|2|R

504




opaue] 2ceA M2 /7 5 8% erd AMRBR Al2[=

=1 =1 A TCP1
o X S
s APM
ETHI (LS - 06 ~ @50 L
2-CUSHION VALVE TCM
49 | wf + $ ( TCM2
P, Moo
i i — ARD
; Lxﬁﬂ/_g_ X XA —
H BA B AM2
8A 8 N GG N L
HA 2-0xR HA 2-P(HZRE) A 4-C.B @S DPT —
2-0xR ‘ A‘ y\ TCAZ
B [ & S— — o A 4 2 L
. = gls i & g‘ 4 _@_ _j___l___;_,_g____ 2l TCS1
etk e D)o s @ Cs?
—— 4 S e
ﬁ I 2-P(HRRE) ﬁvl—* @ X XA 2x4-MM DP:M ES bl TCQZ
Js J J8 J |
L L+AE2D £ ——
<AMABR 6.10.16.,20.25.30,40> <AMRBR 50> e ADQ2CP
AQ2
ADQ2
AQ3
4| A|B|BA|C|CA|CB|D|E|F | G|GG|H|HA| I [IA|B|IC| J |JA|JIB| K 7?
AMRBR6 | 39 | 17 | 2 | 18 |[105]105| 7 |85 | 8 | 7 |415| 19 [105| 20 |185| 6 | 95| 17 | 45|05 | 105 | 16K2
AMRBR10 | 42 | 24 | 2 | 25 | 14 | 14 | 11 |35 | 4 | 9 |445| 26 | 14 | 27 |255| 7 | 13 | 23 | 45| 1 14 @ —
AMRBR16 | 61 | 30 | 2 | 31 | 17 | 17 |17.4| 43| 5 |105|635| 32 | 17 | 33 |315| 7 | 16 | 30 | 85| 05 | 17 ACK1
AMRBR20 | 67 | 36 | 3 | 38 | 24 | 21 |216|52| 6 | 9 | 69 | 39 | 24 | 39 |375| 7 |19 |36 | 75| 1 20 7F
AMRBR25 | 74 | 41 | 3 | 43 |235|235|266|562 | 6 |85 | 76 | 44 |235| 44 |425| 7 |215| 41 | 65| 1 | 225 | ABK?2
AMRBR32 | 87 |52 | 3 | 54 | 29 | 29 |338| 7 | 7 |105|885|55 | 29 | 55 [5635| 7 |27 |51 | 7 |156| 28 ——
AMRBR40 | 91 |62 | 5 |66 | 36 |36 |42 | 7 | 7 | 10 |935| 67 | 36 |65 (638 7 |32 |62 | 8 | 2 | 33 NSK
AMRBR50 | 110 | 80 | 5 | 84 | 45 | 45 |52.4 |86 |85 | 14 |113| 85 | 45 | 83 815 10 | 41 |80 | 9 | 2 42
TGQ
74 M MM N | O |OA| QxR S| T| X |Xa| Y |Ya|YB| L |LL
AMRBR6 | 3.5 | M3x0.5 | 11 | 19 | 10 | M4x0.7x6 | 65 | 32 | 20 | 95| 10 | 55 | 3.5 | 60 | 66 NGQ
AMRBR10 | 4 | M3x05 |145| 26 | 14 | M4x07x6 | 6.5 | 32 | 20 | 11 | 15 | 65 | 45 | 68 | 76 NGQpiEY)
AMRBR16 | 5 | M4x0.7 | 14 | 32 | 18 | M5x08x7 | 8 |42 | 25 | 18 | 18 | 8 | 6 | 84 | 94 TGM2
AMRBR20 | 5 | M4x0.7 | 18 | 38 | 17 | Mexix8 | 95|52 | 40 |135] 22 | 9 | 7 | 95 | 107 T
AMRBR25 | 6 | M5x0.8 |19.5] 43 | 20 | Méxix8 | 9 |52 | 40 | 17 | 28 | 85| 6.5 | 105 | 117 APR
AMRBR32 | 7 M6x1 20 | 54 | 26 |M8x1.25x10| 11 | 6.5 | 50 |18.5| 35 [10.5| 85 | 116 | 130 L
AMRBR40 | 8 M6x1 26 | 64 | 34 |M8x1.25x10| 11 | 6.5 | 60 |20.5| 40 | 13 | 11 | 134 | 148 TCRL
AMRBR50 | 10 | M8x1.25 | 30 | 82 | 48 |M10x1.5x15| 14 | 82 | 60 | 25 | 50 | 17 | 15 | 159 | 176 L
AMRBR6 M3x0.5 ———
AMRBR10 M5x0.8 AMRBR
AMRBR16 M5x0.8 N
AMRBR20 Rc 1/8 NBP
AMRBR25 Rc 1/8 —
AMRBR32 Rc 1/8 ADR
AMRBR40 Rc 1/4 —
AMRBR50 Rc 1/4 ASL
NDC
NDM
505

www. TPCpage.co.kr




AMRBR A|2|=

pzEE) 2 pmzzE)
= REYEA e SRR A
- — H_./ ) Lol | D)
A 4 T 4 2-CUSHION VALVE
S e 2

125l THEwee

l—_‘—': | ’__j ; SL \_ = = &/Y
P(HBLE) i E B | _ - N

<AMRBRG 10> <AMRBRG 16> % N |
X XA
H
H
gA s BA B8
HA HA N [ =
son e 2-0& [[ue A 4-C.B S DP-T
} <
| o h >
QL B= E == -# & E »
s | o 4 )@K g o - —_—————————————————J—g—————————j%o
[ b S 7| ()
A A ———r] Ol N 4
JAJ _ = P;u;sz_?;a) / ® i
e \ : I o X xa ot OB T ED]
(?%QQ—JAE ) pgﬂg;_;gﬂgs)) e | et P({EEE) A L‘AEEEZ 4-MM DP:M B
<AMRBRG 20,25,30,40> <AMRBRG 50> Usasza
A A B |BA| C |CB| D E F |GG| H | HA | HB | IA | IB | IC J JA | JB K M
AMRBRG10| 42 | 24 2 25 | 14 | 11 | 35| 4 |445]| 26 - - 27 |255| 7 - 23 | 45 1 14 4
AMRBRG16| 61 | 30 2 31 17 |17.4| 43 | 5 |63.5] 32 - - 33 |31.5| 7 - 30 | 85|05 | 17 5
AMRBRG20| 67 | 36 3 38 | 21 |216| 52| 6 69 | 39 | 830 | 13 | 39 |37.5| 7 19 1 386 | 75 1 20 5
AMRBRG25| 74 | 41 3 43 |23.5|26.6| 52 | 6 76 | 44 |335|14.5| 44 |425| 7 |215] 41 | 6.5 1 ]225] 6
AMRBRG32| 87 | 52 3 54 | 29 |33.8| 7 7 |885| 55 | 41 | 20 | B5 |63.5| 7 27 | 51 7 15| 28 7
AMRBRG40| 91 | 62 5 66 | 36 | 42 7 7 1935| 67 | 50 | 25 | 65 |63.8| 7 32 | 62 8 2 33 8
AMRBRG50| 110 | 80 5 84 | 45 |52.4|86 |85 | 113 | 8 | 52 | 28 | 83 |815| 10 | 41 | 80 9 2 42 | 10
T MM N O | OA QxR S T X | XA|Y | YA |YB L LL

AMRBRG10| M3x0.5 [145] 26 | 14 | M4x0.7x6 | 6.5 | 32 | 20 | 11 | 15 | 65| 45| 68 | 76
AMRBRG16| M4x0.7 14 | 32 | 18 | Mb6x0.8x7 8 |42 ] 25| 18 | 18 8 6 | 84 | 94
AMRBRG20| M4x0.7 18 | 38 | 17 Méx1x8 | 9.5 | 5.2 | 40 |13.5| 22 9 7 95 | 107
AMRBRG25| Mb5x0.8 [19.5| 43 | 20 M6x1x8 9 |52| 40 | 17 | 28 | 85 | 6.5 | 105 | 117
AMRBRG32| M6x1 20 | 54 | 26 |M8x1.25x10| 11 | 6.5 | 650 |185| 35 |10.5| 8.5 | 116 | 130
AMRBRG40| M6x1 26 | 64 | 34 |M8x1.25x10| 11 | 6.5 | 60 |20.5| 40 | 13 | 11 | 134 | 148
AMRBRGS50| M8x1.25 | 30 | 82 | 48 |M10x1.6x15| 14 | 82 | 60 | 256 | 60 | 17 | 16 | 1569 | 176

4 PHIZZE)
AMRBRG10| M5x0.8
AMRBRG16| M5x0.8
AMRBRG20| Rc 1/8
AMRBRG25| Rc 1/8
AMRBRG32| Rc 1/8
AMRBRG40| Rc 1/4
AMRBRG50| Rc 1/4

506




opaue] 2ceA M2 /7 5 8% erd AMRBR Al2[=

QLEARX| R2HAERZT BT ?:'u'%*') TCL
APM
TCM
I 1 TCM2
ARD
? F\ AM2
TCA2
B A o B - —
TCS1
|TCs2
TCQ2
oEA9IK| HE 29| ADazeP
@6 ~ @50
QEAQIR| A B f\gﬁz
S Al
Lz wav W10V wsv wsv AQ3
6 33 28 7 16 [TCK1
10 62 48 8 15 TCK2
16 48 42 21 2
18 - - > - ACK1
25 52 49 26 35 [ABK
32 56 52 27 37 ABK2
40 63 61 35 45 T
= - ” 0 2 NSK
F) 2l LEARIX| MY BAIX|HE 001FM SMX| 2| MZof| stoto] Mg gLICt
OfoiRH SHAIRIS HER 27| £ & Sas) FA| HfRiLIC, T6a
N6Q
| NGQMoRY
TGM2
TG
APR
TCRL
AMRBR
NP
INBP_
ADR
ASL
NDC
NDM
507

www. TPCpage.co.kr



